Maths Mastery

Short Division
Challenge Cards

>

Short Division

2. Find the missing numbers in these calculations:

2001 30[] 16
12)3[180 101)52[13 [13)95018
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Short Division

1. Explain the mistakes in these calculations:
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Short Division

3. Find the missing numbers in these calculations:

7018 U 492 ! 140

11)8[158 1070080 [11)57000
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14)[102010 171)819[100 [5)704000
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Answers

L 27 32+12=2r8. The 2 goes above the 2 in 324.

1253 284 Answer = 27

16 22+14=1r8, Replace r6 with r8

1452264 Answer = 16

65 71+11=6+5

1157 155 Answer = 65
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